BARRICADE

EXTREME HD MODULAR GRILLE GUARD

(2019-2023+ SILVERADO)

INSTALLATION INSTRUCTIONS
CONTENTS

LH Headlight Guard Panel
RH Headlight Guard Panel
LH Bumper Panel

RH Bumper Panel

Center Grille Guard Panel
Lower Tubular Bar

LH Lower Mounting Bracket
RH Lower Mounting Bracket
LH Upper Mounting Bracket
RH Upper Mounting Bracket
LH Upper Mounting Bracket
RH Upper Mounting Bracket
LH Upper Mounting Bracket (22+) [OUTER]
RH Upper Mounting Bracket (22+)[OUTER]
LH Center Support Bracket (22+)

RH Center Support Bracket (22+)

2) M12 Double Stud Plates

2) M12 Single Stud Plates

(
(
(
(
(
(
(
(
( 19-21)
(

(

(

(

(

(

(

E

(4) M12x1.75 x 35mm Bolts
(

(

(

(

(

(

(

(

(

(

(

(

(

(

(

(

(

19-21)
22+) [INNER]
22+)[INNER]

— N |

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

) M12 Lock Washers

) M12 Flat Washers

4) M10x1.50 x 35mm Allen Bolts
4) M10x1.50 x 30mm Bolts

1
1
1

M10 Flat Washers [Large OD]
M10 Flat Washers [Small OD]
M10 Lock Nuts

M8 Double Nut Plates
M8x1.25 x 35mm Allen Bolts
M8x1.25 x 30mm Bolts

M8 Lock Washers

) M8 Flat Washers

M8 Lock Nuts

4mm Allen Key

5mm Allen Key

)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
)
0) M12x1.75 Nuts
0
4
)
)
)
)
)
)
)
)
)
0
)
)
)
) 6mm Allen Key

8
8
8
.
8
6
6
3
8
1.
1
1.

TOOLS REQUIRED

13mm, 15mm, 18mm Sockets
Ratchet

Plastic Pry Tool

Panel Removal Tool

Cutters (Optional)

SKU # 5183121
Edited: 04/15/2024



STEP1

Open the vehicle hood. Remove (2) T-15 Torx bolts from the hood latch. Remove the hood latch
and set aside.

STEP 2

Remove (10) plastic push clips from radiator cover. Remove the cover from the vehicle.



STEP 3

Remove (4) 10mm bolts from the top of the grille.

STEP 4

Using a plastic trim removal tool, carefully pry around the grille while pulling the grille away from
the vehicle to dislodge the retainers. Remove the grille from the vehicle and set aside.



STEP S5
(2019-2021
Model)

2019-2021 Model Year: Locate the bolts on the inner lip of the front bumper. Remove the outer
most 13mm bolt. Then, fit the included upper mounting bracket to the bumper, and re-secure the
13mm bolt into place to secure the bracket. When placing the brackets, take note to the rounded
corner, the corner will face outwards on the vehicle.

Repeat this step for the opposite side center mounting bracket. Re-install the vehicle grille.

STEP 6
(2022+ Model)

2022+ Model Year: Remove the fender liner (3) T-15 screws on both sides of the vehicle. Pull the edge
of the bumper trim away from the fender and remove the trim from the vehicle.



STEP7
(2022+ Model)

2022+ Model Year: Fit the center support brackets to the vehicle using the original bumper bolt
on each side of the vehicle.

Use a plastic pry tool to remove the LH and RH top shutter assembly blades to prepare for the
upper mounting brackets. Re-install the bumper trim after the brackets are installed.

[ — - -
Driver Slde. Passenger Side

STEP 8
(2022+ Model) ’

2022+ Model Year: Secure the upper mounting brackets [INNER] to the vehicle core support using (2)
M8 x 30mm bolts, (2) M8 lock washer, and (2) M8 flat washers.



STEP9
(2022+ Model)

2022+ Model Year: Re-install the vehicle grille. Then, secure the upper mounting bracket [OUTER]
to the previously mounted inner brackets using (2) M8 x 30mm bolts, (2) M8 lock washers, (2) M8
flat washers, and (1) M8 double nut plate per side.

STEP 10

From under the vehicle, remove (1) 18mm bolt and (1) 18mm nut & bolt from the vehicle tow hook.
Remove the tow hook from the vehicle.

Repeat this procedure for the opposite side.

Note: Loosen the bumper mounting bolts to gain access for bolt removal, if necessary.



STEP 11

Fit the lower mounting bracket into the vehicle frame where the tow hooks were installed. Then,
fit (1) M12 double nut plate and (1) M12 single nut plate through the bracket and vehicle frame.
Loosely secure the mounting bracket into place using (3) M12 flat washers, (3) M12 lock washers,
and (3) M12 nuts. Repeat this step for the opposite side lower mounting bracket.

Note: Trimming the bumper is required for proper mounting bracket fitment. Vehicles without
OEM tow hooks will need to trim the bumper for the brackets.

STEP 12

Lay out and identify all grille guard components on a soft workable surface.

Fit the center grille guard panelin between the LH and RH bumper panels. Then, align each head-
light guard to the center grille guard panel and the bumper panels. Once aligned, loosely secure the
panels together using (8) M8 x 30mm Allen bolts, (16) M8 flat washers, and (8) M8 lock nuts.

Note: If vehicle is equipped with forward facing camera, remove the (4) Allen bolts in the center grille
guard removable panel to allow camera visibility.



STEP 13

Loosely secure the center support tube to the LH and RH bumper panels using (4) M10 x 30mm
Allen bolts, (8) M10 flat washers, and (4) M10 lock nuts.

STEP 14

With assistance, carefully lift the grille guard to the previously mounted brackets. Loosely secure the
bottom of the grille guard to the lower brackets using (4) M12 x 35mm bolts, (4) M12 lock washers, (8)
M12 flat washers, and (4) M12 nuts.

Loosely secure the upper brackets to the grille guard using (2) M10 x 30mm bolts, (4) M10 flat wash-
ers, and (2) M10 lock nuts.



STEP 15
(2022+ Model)

2022+ Model Year: Secure upper mounting bracket to the grille guard using (1) M10 x 30mm bolt,
(2) M10 flat washers, and (1) M10 lock nut.

STEP 16

Installation is now complete.



	S183121 - Barricade - Extreme HD Modular Grille Guard (19-21 Silverado)-01
	S183121 - Barricade - Extreme HD Modular Grille Guard (19-21 Silverado)-02
	S183121 - Barricade - Extreme HD Modular Grille Guard (19-21 Silverado)-03
	S183121 - Barricade - Extreme HD Modular Grille Guard (19-21 Silverado)-04
	S183121 - Barricade - Extreme HD Modular Grille Guard (19-21 Silverado)-05
	S183121 - Barricade - Extreme HD Modular Grille Guard (19-21 Silverado)-06
	S183121 - Barricade - Extreme HD Modular Grille Guard (19-21 Silverado)-07
	S183121 - Barricade - Extreme HD Modular Grille Guard (19-21 Silverado)-08
	S183121 - Barricade - Extreme HD Modular Grille Guard (19-21 Silverado)-09

